[M@ ‘. lﬁ 8 ' cuatro decimales, orden de operaciones con
paréntesis

Nombre: Fecha: Puntuacion:
(6,5-4,3)x5+6,9= 5,6+3,4(3,7—5,2)=
(30+5+4,6)x5,6= 2,4—-3,96,9+2,3)=
20(3,1+6,5)+4= (6,2—6,7)x2,7+4,3=
(12+-6+5,1)x3,4= (10+-5-4,6)x4,4 =
(5,9+5,9)x3,8—2,1= (5,6 +6)x3—-5,4=

www.snowmath.com


https://www.snowmath.com

[M@ ‘. lﬁ 8 ' cuatro decimales, orden de operaciones con
paréntesis

Nombre: Fecha: Puntuacion:
(6,5-4,3)x5+6,9=17.9 5,6+3,43,7—-5,2)=0.5
(30+5+4,6)x5,6=59.36 2,4—-3,9(6,9+2,3)=—-3348
20(3,1+6,5)+4=48 (6,2-6,7)x2,7+4,3=2095
(12+=6+5,1)x3,4=24.14 (10+5—-4,6)x4,4=-1144
(5,9+5,9)x3,8—2,1=42.74 (5,6 +6)x3—-5,4=294
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